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General Instructions:

1. This question paper contains 35 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
Attempt all parts of the questions together.

An internal choice is available in Qn. 21, 22, 23,28,31,32,33,34,35.
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Taking corrective actions is the ................. Step of controlling process.
(A) First

(B) Second

(C) Third

(D) Last

2. g fqameT 3regeT Yy & fohg T O 1 aarg? (1)
(T) faer TR
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(@) 7T TR
(3Y) AT FAR

At which level of Management Finance Departmental Head Works?
(A) Lower level
(B) Top level
(C) Middle level
(D) Shop floor
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How much part of the earning should be distributed among shareholders by the
Way of dividend and how much should be retained for meeting future needs as
Retained earnings. This is the example of ......................... decision.

(A) Investment Decisions

(B) Financial Decisions

(C) Dividend Decisions

(D) Financing decisions
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“Management can neither be seen nor touched.” The statement highlights which
feature of management?

(A) Management is an intangible force

(B) Management is a goal-oriented process

(C) Management is pervasive in nature
(D) Management is a continuous process
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3 T9F F
Identify the valid importance of Business Environment:
(A) Enables a firm to identify opportunities and getting first mover advantage
(B) Uncertainty
(C) Delay in action
(D) Pervasive function
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Which of the following promotion technique has enough flexibility?
(A) Advertising
(B) Publicity
(C) Sales promotion
(D) Personal selling
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(3N) eI
Which characteristic of the business environment is highlighted when changes
are taking place too frequently and it becomes difficult to predict the future?

(A) Uncertainty

(B) Complexity

(C) Inter-relatedness

(D) Relativity
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@) Raiféer gaer safia Feer
A manager has to perform the process of organizing. Which step of the process
will a manager need to perform after doing all the work that has to be done in

accordance with previously determined plans?
(A) Identification and division of work

(B) Departmentalization
(C) Assignment of Duties
(D) Establishing Reporting Relationships
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Enough working capital is the indicator of ......... of the business:
(A) Profits
(B) Weakness
(C) Liquidity
(D) Loss
10. 3YHTFATHT & TSR T&T fhu 311 8 (1)
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Rights of consumers are protected under:
(A) Consumer Protection Act,2013
(B) Consumer Protection Act,2019

(C) Consumer Protection Act,2015
(D) Consumer Protection Act,2017
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CHICIEREIGREED)
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@) 3cure AT
—————————— creates a particular image in the minds of consumer.
(A) Branding
(B) Personal Selling
(C) Grading
(D) Product Planning
12. FARTIOT el & HTER,” GHARY HUTTAT Tedeh HIehTol HEAT o lalol U ST6 ell Sl ¢ |
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“Our Assets walk out of the door each evening. We have to make sure that they
come back the next morning.” As stated by Narayan Murthy. Here what does the
mean by Assets?

(A) Goods

(B) Cars

(C) Employees

(D) All of Above

13. GIHAISS ATATGRUT H T 3E180T G| (1)
Give one example of social environment.

14, T facig Gfsham ol ATH SATST it Ig AT L foh €T T 3TcTstrdT TEl THT R |

Name the financial activity that ensures availability of funds whenever these are

required. (1)
15. g el & AR YoEr & ol HRT §7? (1)
How many functions of management according to Henry Fayol?
16. fAASTA...cocee. aEdr § e AT ... Qg gl
(3791, IS, IR, =11) (1)
Planning is looking ........ while controlling is looking..........

(Forward,Backward,Upward,Downward)

17. ATAT BH AT TYT HET o YohToTdT &l 3STEIT gl
CIRIEETARIRED! (1)
Tube container of shaving cream is an example of .................. packaging.
(Primary/Third)

18. el Hufd- 1o &f¥ed = ... (Frfrer gt / TTe gom) (1)
Current Assets- Current Liabilities= ............ (Working Capital/Fixed Capital)

19. ARFUA-AT FRUI-R &I &AFAGGH ¢ | ol f&U a0 fdshedt & & TET fdohoq &7



TIT I (1)
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Read Assertion and Reason carefully and choose the correct option from the
following:

Assertion: The scope of marketing is wider than selling.

Reason: Marketing is a social process under which valuable goods/services are

created and offered.
(A) Both Assertion and Reason are correct and Reason is the correct
explanation of Assertion.
(B) Both Assertion and Reason are correct and Reason is not the correct
explanation of Assertion.
(C) Assertion is true but Reason is false.
(D) Assertion and Reason both are false.

20. JfAFAYA-AT FRUT-R H eAAGH Te| A T a0 fashedt # & @Er fasheq &1

TIT HITAT; (1)
IfAPUT-A : 9§ Faeamdr
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(3N) IAFUF-A T FRUL-R Sl 3T gl
Read Assertion and Reason carefully and choose the correct option from the
following:
Assertion: Management is pervasive.
Reason: Management is used not only in business sector but also in non

business sectors.
(A) Both Assertion and Reason are correct and Reason is the correct
explanation of Assertion.
(B)  Both Assertion and Reason are correct and Reason is not the correct
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explanation of Assertion.
(C) Assertion is true but Reason is false.
(D) Assertion and Reason both are false.

21. TA9UTeT & T 3M2T &7 fA9uTe T fohegl aF faAwar3it &1 guie |

What is meant by Marketing? Explain its two features. 3)
3AYgar

OR
e e 3cUTe 1 37 U 3HHT &Y TAAYATHT 1 JUTT Y|

Describe the meaning and any two features of Industrial product.

22. gASET o fohg ger fAg=or "dgdR gFeay” 3R "sgR Faee &

TS &7 3)
Explain how controlling helps in achieving “Better co-ordination” and
“Better planning”?
3Agar

OR
"Irofer 3R AT & S gfase 3R Aol IREIRE @6 g1 YT Hr
STEAT Y |
“There is a close and reciprocal relationship between Planning and Controlling.”
How the statement holds good?

23,31 TS & HIS dled o1 TdISU| (3)
Explain any three advantages of Formal Organisation.
3dar
OR
AR HITST & HIS died [AAYAT FATST

Explain any three features of Informal Organisation.

24."EIThaT Ueh cqaiedd Tishdrl & TS ad TRuil &1 v s@ar arfAd gl"
TXOT} o ATH §dA15T | (3)
“Staffing is a systematic process involving a series of steps.” List the name of
steps.

25."9eET T Teh HYOT fA=ATe AT SITar g1 &1 319 $H HUT ¥ FgAd 82 Fr
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T FAT AgI?
(3)

“Management is regarded as a perfect science”. Do you agree with the
Statement? Why or why not?

26.f7ATISTT 9fshaT & TRON & ATH TdT| (3)

Give three examples of sales promotion.

27. ATaIRe FIYUT & Hged I SITEAT FHifoiv| (4)

Explain the importance of Informal Communication.

28. SITSTRr AT T YaITcT el aTel cfedl T JUTT | (4)
Discuss the factors which affect the dividend decisions.

3ar
OR

i Aot &t ganfaa ey arel dcat &1 guie Y|

Discuss the factors which affect the financing decisions.

29.3UHIFAT EI&TOT HRATATH & d8d QT T 3eFar AfhRT S G daw iR
faEqa avter &2 (4)

List and elaborate the consumer rights given under Consumer Protection Act?

30. GACT W SR Hl Teh 3GIEI0T I TEIAT & THSSU| (4)
Explain the term Trading on Equity with the help of an example.

31. ATEAl & 3MaRTehdl FIATHDAT ha & AT $Hr carEar Hi|

(4)
Explain Maslow’s need hierarchy theory of motivation.
3yar
OR

FAARAT FH JAROT F T 39T fFv I g fhegl IR IR-fahar dicamgar
1 gl FA0 HR aueT A

List and elaborate any four non-financial incentives used for motivation of
employees.



32. o1l & fredl o s @Al & a1 fav 33k carer fifsw) (4)

Name and explain any two external sources of recruitment.

312rar
OR
gfRIeToT & ferfai@d faftat &1 aoie &l

(T) Ue deelr
(ST) TehISaRATAT gfRraor
Describe the following methods of training:
(A) Job Rotation
(B) Vestibule training
33. TR GaRT & 915 Aol JaeT ol fieatfolf@d deheiiohl H & fohogl cllel cIehsilenl
T HEAT FH SITEAT (6)
(v) dRIfafer reaga
(s) forarcareh BRATRT
(&T) HATAhIHIOT
(31) faseTcas FHoigdr Jorelr
Briefly explain any three of the following techniques of Scientific Management
as given by F.W. Taylor:
(A) Method study
(B) Functional foremanship
(C) Standardization
(D) Differential piece wage system
3Yar
OR
gl Batel earT 6T 910 yaud & fArAfaf@d fcuial & & gl et fcurat
T G819 # carear fifw
(T) 3TMeRT T Tahdr
(&) gHAT
@) aiksf@s
(1) gl
Briefly explain any three of the following principles of management given by
Henry Fayol:
(A) Unity of command
(B) Equity
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(C) Remuneration
(D) Initiative
34.f3gura fAsor F=ar 292 f9uvrer fAeor & [ffiess acal fr sarear fifaw|
What is marketing mix? Explain different elements of marketing mix.
3gar
OR
o Toiar & T 319 &2 SohTSieT & I IR R d18U|

What is meant by Packaging? Explain any four functions of Packaging.

35."ITSTAT STFHET T HBeldT T IRET oIl & feoquiy Y|

“Planning is not a guarantee of success of business.” Comment.

3ar
OR

FIATcHS o U9 R2fasteTel ol 7 37d] 9d17 |
Differentiate between Functional Structure & Divisional structure.

A
v
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